

## NEW LIMITS RELATED TO EULER-MASCHERONI AND IOACHIMESCU CONSTANTS

D.M. BĂTINEȚU-GIURGIU, MIHÁLY BENCZE, DANIEL SITARU, NECULAI STANCIU -  
ROMANIA

ABSTRACT. In this paper we present some certain limits of real sequences.

**Theorem 1.**

$$\begin{aligned} \text{If } \gamma_n = -\ln n + \sum_{k=1}^n \frac{1}{k}, \lim_{n \rightarrow \infty} \gamma_n = \gamma \text{ (Euler-Mascheroni constant) and} \\ s_n = -2\sqrt{n} + \sum_{k=1}^n \frac{1}{\sqrt{k}}, \lim_{n \rightarrow \infty} s_n = s \text{ (Ioachimescu constant), then} \\ \lim_{n \rightarrow \infty} \frac{\gamma_n - \gamma}{(s_n - s)^2} = 2. \end{aligned}$$

*Proof.*

$$\begin{aligned} (1) \quad \lim_{n \rightarrow \infty} \frac{\gamma_n - \gamma}{(s_n - s)^2} &= \lim_{n \rightarrow \infty} \frac{n(\gamma_n - \gamma)}{(\sqrt{n}(s_n - s))^2} \\ \lim_{n \rightarrow \infty} n(\gamma_n - \gamma) &= \lim_{n \rightarrow \infty} \frac{\gamma_n - \gamma}{\frac{1}{n}} \stackrel{\text{Cesaro-Stolz}}{=} \lim_{n \rightarrow \infty} \frac{\gamma_{n+1} - \gamma_n}{\frac{1}{n+1} - \frac{1}{n}} = \lim_{n \rightarrow \infty} \frac{\gamma_n - \gamma_{n+1}}{\frac{1}{n} - \frac{1}{n+1}} = \\ &= \lim_{n \rightarrow \infty} \frac{-\ln n + \ln(n+1) - \frac{1}{n+1}}{\frac{1}{n(n+1)}} = \lim_{n \rightarrow \infty} \frac{\ln \frac{n+1}{n} - \frac{1}{n+1}}{\frac{1}{n(n+1)}} = \lim_{n \rightarrow \infty} \frac{\ln(1 + \frac{1}{n}) - \frac{1}{n+1}}{\frac{1}{n(n+1)}} = \\ &= \lim_{\substack{x \rightarrow 0 \\ x > 0}} \frac{\ln(1+x) - \frac{x}{x+1}}{x \cdot \frac{x}{x+1}} = \lim_{\substack{x \rightarrow 0 \\ x > 0}} \frac{(x+1)\ln(x+1) - x}{x^2} \stackrel{\text{L'Hospital}}{=} \lim_{\substack{x \rightarrow 0 \\ x > 0}} \frac{\ln(x+1) + 1 - 1}{2x} = \\ (2) \quad &= \lim_{\substack{x \rightarrow 0 \\ x > 0}} \frac{1}{2} \ln(1+x)^{\frac{1}{x}} = \frac{1}{2} \ln e = \frac{1}{2} \end{aligned}$$

$$\begin{aligned} u = \lim_{n \rightarrow \infty} \sqrt{n}(s_n - s) &= \lim_{n \rightarrow \infty} \frac{n(s_n - s)}{\sqrt{n}} \stackrel{\text{C-S}}{=} \lim_{n \rightarrow \infty} \frac{(n+1)(s_n - s) - n(s_n - s)}{\sqrt{n+1} - \sqrt{n}} = \\ &= \lim_{n \rightarrow \infty} (\sqrt{n+1} + \sqrt{n})(n(s_{n+1} - s_n) + (s_{n+1} - s)) = \\ &= 2 \lim_{n \rightarrow \infty} \sqrt{n} \cdot n \cdot (s_{n+1} - s_n) + 2 \lim_{n \rightarrow \infty} \sqrt{n+1}(s_{n+1} - s) = \\ &= 2u + 2 \lim_{n \rightarrow \infty} \left( n\sqrt{n} \left( \frac{1}{\sqrt{n+1}} - 2\sqrt{n+1} + 2\sqrt{n} \right) \right) = \\ &= 2u + 2 \lim_{n \rightarrow \infty} \left( \frac{n\sqrt{n}}{\sqrt{n+1}} (1 - 2(n+1) + 2\sqrt{n(n+1)}) \right) = \\ (3) \quad &= 2u + 2 \lim_{n \rightarrow \infty} \frac{4n(n+1) - 4n^2 - 4n - 1}{2n+1 + 2\sqrt{n(n+1)}} \cdot \frac{n\sqrt{n}}{\sqrt{n+1}} = 2u - \frac{1}{2} \Leftrightarrow u = \frac{1}{2} \end{aligned}$$

From (1); (2) and (3) we get  $\lim_{n \rightarrow \infty} \frac{\gamma_n - \gamma}{(s_n - s)^2} = 2$

□

**Theorem 2.**

If  $\gamma_n = -\ln n + \sum_{k=1}^n \frac{1}{k}$ ,  $\lim_{n \rightarrow \infty} \gamma_n = \gamma =$  Euler-Mascheroni constant, then

$$\lim_{n \rightarrow \infty} (\gamma_n - \gamma) \sqrt[n]{n!} = \frac{1}{2e}$$

*Proof.*

(1) Let  $x_n = (\gamma_n - \gamma) \sqrt[n]{n!} = n(\gamma_n - \gamma) \cdot \frac{\sqrt[n]{n!}}{n}$

(2) It is well-known that  $\lim_{n \rightarrow \infty} \frac{\sqrt[n]{n!}}{n} = \frac{1}{e}$

$$\begin{aligned} \lim_{n \rightarrow \infty} n(\gamma_n - \gamma) &= \lim_{n \rightarrow \infty} \frac{\gamma_n - \gamma}{\frac{1}{n}} \stackrel{\text{Cesaro-Stolz}}{=} \lim_{n \rightarrow \infty} \frac{\gamma_{n+1} - \gamma_n}{\frac{1}{n+1} - \frac{1}{n}} = \lim_{n \rightarrow \infty} n(n+1)(\gamma_n - \gamma_{n+1}) = \\ &= \lim_{n \rightarrow \infty} n(n+1) \left( \ln \frac{n+1}{n} - \frac{1}{n+1} \right) = \lim_{n \rightarrow \infty} n \left( (n+1) \ln \left( 1 + \frac{1}{n} \right) - 1 \right) = \\ &= \lim_{\substack{x \rightarrow 0 \\ x > 0}} \frac{\frac{x+1}{x} \ln(1+x) - 1}{x} = \end{aligned}$$

(3)  $= \lim_{\substack{x \rightarrow 0 \\ x > 0}} \frac{(x+1) \ln(1+x) - x}{x^2} \stackrel{\text{L'Hospital}}{=} \lim_{\substack{x \rightarrow 0 \\ x > 0}} \frac{\ln(1+x)}{2x} = \frac{1}{2} \lim_{\substack{x \rightarrow 0 \\ x > 0}} \ln(1+x)^{\frac{1}{x}} = \frac{1}{2} \ln e = \frac{1}{2}$

From (1), (2) and (3) we get  $\lim_{n \rightarrow \infty} (\gamma_n - \gamma) \sqrt[n]{n!} = \lim_{n \rightarrow \infty} x_n = \frac{1}{2e}$ .

□

**Theorem 3.**

If  $\gamma_n = -\ln n + \sum_{k=1}^n \frac{1}{k}$ ,  $\lim_{n \rightarrow \infty} \gamma_n = \gamma$ , then  $\lim_{n \rightarrow \infty} (\gamma_n - \gamma) \sqrt[n]{(2n-1)!!} = \frac{1}{e}$

*Proof.*

(1) Let  $x_n = (\gamma_n - \gamma) \sqrt[n]{(2n-1)!!} = n(\gamma_n - \gamma) \cdot \frac{\sqrt[n]{(2n-1)!!}}{n}$

$$\lim_{n \rightarrow \infty} \frac{\sqrt[n]{(2n-1)!!}}{n} = \lim_{n \rightarrow \infty} \sqrt[n]{\frac{(2n-1)!!}{n^n}} \stackrel{\text{C-D'A}}{=} \lim_{n \rightarrow \infty} \left( \frac{(2n+1)!!}{(n+1)^{n+1}} \cdot \frac{n^n}{(2n-1)!!} \right) =$$

(2)  $= \lim_{n \rightarrow \infty} \frac{2n+1}{n+1} \left( \frac{n}{n+1} \right)^n = \frac{2}{e}$

$$\begin{aligned} \lim_{n \rightarrow \infty} n(\gamma_n - \gamma) &= \lim_{n \rightarrow \infty} \frac{\gamma_n - \gamma}{\frac{1}{n}} \stackrel{\text{Cesaro-Stolz}}{=} \lim_{n \rightarrow \infty} \frac{\gamma_{n+1} - \gamma_n}{\frac{1}{n+1} - \frac{1}{n}} = \lim_{n \rightarrow \infty} n(n+1)(\gamma_n - \gamma_{n+1}) = \\ &= \lim_{n \rightarrow \infty} n(n+1) \left( \ln \frac{n+1}{n} - \frac{1}{n+1} \right) = \lim_{n \rightarrow \infty} n \left( (n+1) \ln \left( 1 + \frac{1}{n} \right) - 1 \right) = \end{aligned}$$

$$\begin{aligned}
 &= \lim_{\substack{x \rightarrow 0 \\ x > 0}} \frac{\frac{x+1}{x} \ln(1+x) - 1}{x} = \\
 (3) \quad &= \lim_{\substack{x \rightarrow 0 \\ x > 0}} \frac{(x+1) \ln(1+x) - x}{x^2} \stackrel{\text{L'Hospital}}{=} \lim_{\substack{x \rightarrow 0 \\ x > 0}} \frac{\ln(1+x)}{2x} = \frac{1}{2} \lim_{\substack{x \rightarrow 0 \\ x > 0}} \ln(1+x)^{\frac{1}{x}} = \frac{1}{2} \ln e = \frac{1}{2}
 \end{aligned}$$

From (1), (2) and (3) we get  $\lim_{n \rightarrow \infty} (\gamma_n - \gamma) \sqrt[n]{(2n-1)!!} = \lim_{n \rightarrow \infty} x_n = \frac{1}{e}$

□

**Theorem 4.**

$$\text{Find } \lim_{n \rightarrow \infty} \frac{\sqrt[n]{\sqrt{2!} \cdot \sqrt[3]{3!} \cdot \dots \cdot \sqrt[n]{n!}}}{\sqrt[n+1]{(2n+1)!!}} = \frac{1}{2e}.$$

*Proof.*

$$(1) \quad \lim_{n \rightarrow \infty} \frac{\sqrt[n]{\sqrt{2!} \cdot \sqrt[3]{3!} \cdot \dots \cdot \sqrt[n]{n!}}}{\sqrt[n+1]{(2n+1)!!}} = \lim_{n \rightarrow \infty} \left( \frac{\sqrt[n]{\sqrt{2!} \cdot \sqrt[3]{3!} \cdot \dots \cdot \sqrt[n]{n!}}}{n} \cdot \frac{n+1}{\sqrt[n+1]{(2n+1)!!}} \cdot \frac{n}{n+1} \right)$$

$$\lim_{n \rightarrow \infty} \frac{\sqrt[n]{(2n-1)!!}}{n} = \lim_{n \rightarrow \infty} \sqrt[n]{\frac{(2n-1)!!}{n^n}} \stackrel{\text{C-D'A}}{=} \lim_{n \rightarrow \infty} \left( \frac{(2n+1)!!}{(n+1)^{n+1}} \cdot \frac{n^n}{(2n-1)!!} \right) =$$

$$(2) \quad = \lim_{n \rightarrow \infty} \frac{2n+1}{n+1} \left( \frac{n}{n+1} \right)^n = \frac{2}{e}$$

$$\begin{aligned}
 \lim_{n \rightarrow \infty} \frac{\sqrt[n]{\sqrt{2!} \cdot \sqrt[3]{3!} \cdot \dots \cdot \sqrt[n]{n!}}}{n} &= \lim_{n \rightarrow \infty} \sqrt[n]{\frac{\sqrt{2!} \cdot \sqrt[3]{3!} \cdot \dots \cdot \sqrt[n]{n!}}{n^n}} = \\
 &= \lim_{n \rightarrow \infty} \frac{\sqrt{2!} \cdot \sqrt[3]{3!} \cdot \dots \cdot \sqrt[n+1]{(n+1)!}}{(n+1)^{n+1}} \cdot \frac{n^n}{\sqrt{2!} \cdot \sqrt[3]{3!} \cdot \dots \cdot \sqrt[n]{n!}} =
 \end{aligned}$$

$$(3) \quad = \lim_{n \rightarrow \infty} \frac{\sqrt[n+1]{(n+1)!}}{n+1} \cdot \left( \frac{n}{n+1} \right)^n = \frac{1}{e} \lim_{n \rightarrow \infty} \frac{\sqrt[n]{n!}}{n} = \frac{1}{e^2}$$

From (1), (2) and (3) we get  $\lim_{n \rightarrow \infty} \frac{\sqrt[n]{\sqrt{2!} \cdot \sqrt[3]{3!} \cdot \dots \cdot \sqrt[n]{n!}}}{\sqrt[n+1]{(2n+1)!!}} = \frac{1}{e^2} \cdot \frac{e}{2} \cdot 1 = \frac{1}{2e}$

□

**Theorem 5.**

If  $s_n = -2\sqrt{n} + \sum_{k=1}^n \frac{1}{\sqrt{k}}$ ,  $\lim_{n \rightarrow \infty} s_n = s$  (Ioachimescu constant), then

$$\lim_{n \rightarrow \infty} (s_n - s) \sqrt[2n]{(2n-1)!!} = \frac{1}{\sqrt{2e}}$$

*Proof.*

$$(1) \quad \text{Let } x_n = (s_n - s) \sqrt[2n]{(2n-1)!!} = \sqrt{n}(s_n - s) \sqrt{\frac{\sqrt[2n]{(2n-1)!!}}{n}}$$

$$\lim_{n \rightarrow \infty} \frac{\sqrt[2n]{(2n-1)!!}}{n} = \lim_{n \rightarrow \infty} \sqrt[n]{\frac{(2n-1)!!}{n^n}} = \lim_{n \rightarrow \infty} \left( \frac{(2n+1)!!}{(n+1)^{n+1}} \cdot \frac{n^n}{(2n-1)!!} \right) =$$

$$\begin{aligned}
 (2) \quad &= \lim_{n \rightarrow \infty} \frac{2n+1}{n+1} \left( \frac{n}{n+1} \right)^n = \frac{2}{e} \\
 \lim_{n \rightarrow \infty} \sqrt{n}(s_n - s) &= \lim_{n \rightarrow \infty} \frac{s_n - s}{\frac{1}{\sqrt{n}}} \stackrel{\text{C-S}}{=} \lim_{n \rightarrow \infty} \frac{s_{n+1} - s_n}{\frac{1}{\sqrt{n+1}} - \frac{1}{\sqrt{n}}} = \lim_{n \rightarrow \infty} \frac{\sqrt{n(n+1)}}{\sqrt{n+1} - \sqrt{n}} (s_n - s_{n+1}) = \\
 &= \lim_{n \rightarrow \infty} \sqrt{n(n+1)}(\sqrt{n+1} + \sqrt{n}) \left( -2\sqrt{n} - \frac{1}{\sqrt{n+1}} + 2\sqrt{n+1} \right) = \\
 (3) \quad &= \lim_{n \rightarrow \infty} \sqrt{n}(\sqrt{n+1} + \sqrt{n})(2n+1 - 2\sqrt{n(n+1)}) = \lim_{n \rightarrow \infty} \frac{\sqrt{n}(\sqrt{n+1} + \sqrt{n})}{2n+1 + 2\sqrt{n(n+1)}} = \frac{1}{2}
 \end{aligned}$$

From (1); (2) and (3) we get  $\lim_{n \rightarrow \infty} (s_n - s) \sqrt[2^n]{(2n-1)!!} = \lim_{n \rightarrow \infty} x_n = \frac{1}{2} \sqrt{\frac{2}{e}} = \frac{1}{\sqrt{2e}}$   $\square$

**Theorem 6.**

If  $s_n = -2\sqrt{n} + \sum_{k=1}^n \frac{1}{\sqrt{k}}$ ,  $\lim_{n \rightarrow \infty} s_n = s$  (Ioachimescu constant), then

$$\lim_{n \rightarrow \infty} (s_n - s) \sqrt[2^n]{n!} = \frac{1}{2\sqrt{e}}$$

*Proof.*

$$\begin{aligned}
 (1) \quad &\text{Let } x_n = (s_n - s) \sqrt[2^n]{n!} = \sqrt{n}(s_n - s) \sqrt{\frac{\sqrt[2^n]{n!}}{n}} \\
 (2) \quad &\lim_{n \rightarrow \infty} \frac{\sqrt[2^n]{n!}}{n} = \frac{1}{e} \\
 \lim_{n \rightarrow \infty} \sqrt{n}(s_n - s) &= \lim_{n \rightarrow \infty} \frac{s_n - s}{\frac{1}{\sqrt{n}}} \stackrel{\text{C-S}}{=} \lim_{n \rightarrow \infty} \frac{s_{n+1} - s_n}{\frac{1}{\sqrt{n+1}} - \frac{1}{\sqrt{n}}} = \lim_{n \rightarrow \infty} \frac{\sqrt{n(n+1)}}{\sqrt{n+1} - \sqrt{n}} (s_n - s_{n+1}) = \\
 &= \lim_{n \rightarrow \infty} \sqrt{n(n+1)}(\sqrt{n+1} + \sqrt{n}) \left( -2\sqrt{n} - \frac{1}{\sqrt{n+1}} + 2\sqrt{n+1} \right) = \\
 (3) \quad &= \lim_{n \rightarrow \infty} \sqrt{n}(\sqrt{n+1} + \sqrt{n})(2n+1 - 2\sqrt{n(n+1)}) = \lim_{n \rightarrow \infty} \frac{\sqrt{n}(\sqrt{n+1} + \sqrt{n})}{2n+1 + 2\sqrt{n(n+1)}} = \frac{1}{2}
 \end{aligned}$$

From (1), (2) and (3) we get  $\lim_{n \rightarrow \infty} (s_n - s) \sqrt[2^n]{n!} = \lim_{n \rightarrow \infty} x_n = \frac{1}{2} \sqrt{\frac{1}{e}} = \frac{1}{2\sqrt{e}}$   $\square$

**Theorem 7.**

If  $e_n = \left(1 + \frac{1}{n}\right)^n$ ,  $\lim_{n \rightarrow \infty} e_n = e$  (Euler constant) and  $s_n = -2\sqrt{n} + \sum_{k=1}^n \frac{1}{\sqrt{k}}$ ,

$$\lim_{n \rightarrow \infty} s_n = s \text{ (Ioachimescu constant), then } \lim_{n \rightarrow \infty} \frac{e - e_n}{(s_n - s)^2} = 2e.$$

*Proof.*

$$\begin{aligned}
 (1) \quad & \lim_{n \rightarrow \infty} \frac{e - e_n}{(s_n - s)^2} = \lim_{n \rightarrow \infty} \frac{n(e - e_n)}{(\sqrt{n}(s_n - s))^2} \\
 & \lim_{n \rightarrow \infty} \sqrt{n}(s_n - s) = \lim_{n \rightarrow \infty} \frac{s_n - s}{\frac{1}{\sqrt{n}}} \stackrel{\text{C-S}}{=} \lim_{n \rightarrow \infty} \frac{s_{n+1} - s_n}{\frac{1}{\sqrt{n+1}} - \frac{1}{\sqrt{n}}} = \lim_{n \rightarrow \infty} \frac{\sqrt{n(n+1)}}{\sqrt{n+1} - \sqrt{n}} (s_n - s_{n+1}) = \\
 & = \lim_{n \rightarrow \infty} \sqrt{n(n+1)}(\sqrt{n+1} + \sqrt{n}) \left( -2\sqrt{n} - \frac{1}{\sqrt{n+1}} + 2\sqrt{n+1} \right) = \\
 (2) \quad & = \lim_{n \rightarrow \infty} \sqrt{n}(\sqrt{n+1} + \sqrt{n})(2n+1 - 2\sqrt{n(n+1)}) = \lim_{n \rightarrow \infty} \frac{\sqrt{n}(\sqrt{n+1} + \sqrt{n})}{2n+1 + 2\sqrt{n(n+1)}} = \frac{1}{2} \\
 (3) \quad & \text{It is well known that } \frac{e}{2n+2} < e - e_n < \frac{e}{2n+1} \Rightarrow \lim_{n \rightarrow \infty} n(e - e_n) = \frac{e}{2}
 \end{aligned}$$

$$\text{From (1), (2) and (3) we get } \lim_{n \rightarrow \infty} \frac{e - e_n}{(s_n - s)^2} = 2e$$

□

#### REFERENCES

- [1] *Octogon Mathematical Magazine*, 2015-2019
- [2] Romanian Mathematical Magazine - Interactive Journal, [www.ssmrmh.ro](http://www.ssmrmh.ro)
- [3] Mihály Bencze, Daniel Sitaru, Marian Ursărescu, *Olympic Mathematical Energy*. Studis Publishing House, Iași, 2018.
- [4] Daniel Sitaru, George Apostolopoulos, *The Olympic Mathematical Marathon*. Cartea Romanească Publishing House, Pitești, 2018.
- [5] Mihály Bencze, Daniel Sitaru, *Quantum Mathematical Power*. Studis Publishing House, Iași, 2018.
- [6] Daniel Sitaru, Marian Ursărescu, *Calculus Marathon*. Studis Publishing House, Iași, 2018.
- [7] Daniel Sitaru, Mihály Bencze, *699 Olympic Mathematical Challenges*. Studis Publishing House, Iași, 2017.
- [8] Daniel Sitaru, Marian Ursărescu, *Ice Math-Contests Problems*. Studis Publishing House, Iași, 2019.
- [9] Mihály Bencze, Daniel Sitaru, Marian Ursărescu, *Olympic Mathematical Beauties*, Studis Publishing House, Iași, 2020.
- [10] Daniel Sitaru, *Math Phenomenon Reloaded*, Studis Publishing House, Iași, 2020.
- [11] Daniel Sitaru, Marian Ursărescu, *Olympiad Problems - Algebra - Volume I, II* Studis Publishing House, Iași, 2020.
- [12] D.M. Bătinețu -Giurgiu, *Șiruri*, Albatros Publishing House, Bucharest, 1979.
- [13] D.M. Bătinețu -Giurgiu, *Șiruri Lalescu*, R.M.T., Year XX (1989), pp. 37-38.
- [14] D.M. Bătinețu -Giurgiu, *Șiruri Lalescu și funcția Euler de speța a doua. Funcții Euler-Lalescu*, Gazeta Matematică, A Series, No. 1/1990, pp. 21-26.
- [15] D.M. Bătinețu -Giurgiu, *Asupra unei generalizări a șirului lui Traian Lalescu. Metode de abordare*, Gazeta Matematică, No. 8-9/1990, pp. 219-224.
- [16] D.M. Bătinețu -Giurgiu, D. Sitaru, N. Stanciu, *New classes of sequences-functions and famous limits*, Octogoin Mathematical Magazine, Vol. 27. No. 2, October, 2019, 784-797.
- [17] D.M. Bătinețu -Giurgiu, D. Sitaru, N. Stanciu, *Two classes of Lalescu's sequences*, Octogon Mathematical Magazine, Vol. 27, No. 2, October, 2019, 805-813.
- [18] D.M. Bătinețu -Giurgiu, M. Bencze, D. Sitaru, N. Stanciu, *Some limits of Traian Lalescu type with Fibonacci and Lucas numbers (II)*, Octogon Mathematical Magazine, Vol. 27, No. 1, April, 2019, 101-111.
- [19] D.M. Bătinețu -Giurgiu, M. Bencze, D. Sitaru, N. Stanciu, *Some limits of Traian Lalescu type (II)*, Octogon Mathematical Magazine, Vol. 27, No. 1, April, 2019, 184-209.
- [20] D.M. Bătinețu -Giurgiu, M. Bencze, D. Sitaru, N. Stanciu, *Some limits of definite integrals of Lalescu's type*, Octogon Mathematical Magazine, Vol. 27., No. 1, April, 2019, 312-328.

- [21] D.M. Bătinețu -Giurgiu, M. Bencze, D. Sitaru, N. Stanciu, *Some limits of Traian Lalescu type (II)*, Octogon Mathematical Magazine, Vol. 26, No. 2, October, 2018, 664-690.
- [22] D.M. Bătinețu -Giurgiu, M. Bencze, N. Stanciu, *Some limits of Traian Lalescu type with Fibonacci and Lucas numbers*, Octogon Mathematical Magazine, Vol. 26, No. 1, April, 2018, 54-87.
- [23] D.M. Bătinețu -Giurgiu, M. Bencze, N. Stanciu, *Some limits of Traian Lalescu type (I)*, Octogon Mathematical Magazine, Vol. 26, No. 1, April, 2018, 116-136.
- [24] D.M. Bătinețu -Giurgiu, M. Bencze, D. Sitaru, N. Stanciu, *Certain classes of Lalescu sequence*, Octogon Mathematical Magazine, Vol. 26, No. 1, April, 2018, 243-251.
- [25] D.M. Bătinețu -Giurgiu, N. Stanciu, *Several results of some classes of sequences*, The Pentagon, Vol. 73, No. 2, Spring, 2014, 10-24.
- [26] D.M. Bătinețu -Giurgiu, A. Kotronis, N. Stanciu, *Calculating the limits of some real sequences*, Math Problems, Issue 1, 2014, 252-257.
- [27] D.M. Bătinețu -Giurgiu, N. Stanciu, *New methods for calculations of some limits*, The Teaching of Mathematics, Vol. XVI, No. 2, 2013, 82-88.
- [28] D.M. Bătinețu -Giurgiu, N. Stanciu, *120 ani de la limita șirului lui Traian Lalescu*, Sclipirea Minciî, No. 25, May, 2020, 6-7.
- [29] D.M. Bătinețu -Giurgiu, N. Stanciu, José Luis Dí az-Barrero, *The Last Three Decades of Lalescu Limit*, Arhimede Mathematical Journal, Vol. 7, No. 1, 2020, 18-28.
- [30] D.M. Bătinețu -Giurgiu, N. Stanciu, *120 de ani de la limita lui Traian Lalescu*, Recreații Matematice, No. 2, July-December, 2020, 104-106.
- [31] N. Stanciu, *Limits of Lalescu Type*, Journal of Mathematics and Statistics Research, Research Article, Vol. 2, Issue 1, 2020, 1-16.
- [32] D. Sitaru, N. Stanciu, *Traian Lalescu limit - 120 Years, D.M. Bătinețu -Giurgiu - 85 Years*, Romanian Mathematical Magazine (RMM), 20 July, 2020, 1-12.

MATHEMATICS DEPARTMENT, NATIONAL ECONOMIC COLLEGE "THEODOR COSTESCU", DROBETA  
TURNU - SEVERIN, ROMANIA  
Email address: dansitaru63@yahoo.com